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The ﬁgures in the margin mdtcate full marks

for the questions

SECTION—A
( General Introduction to

( Marks : 251

vyakarana )

as directed
(i) Who is the author of Laghusiddhﬁnra-
kaumudi?
(ii) .
___ gfearl
P23 ( Fill in the plank )
1406 ( Turm over)
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(b) Define and illustrate any three of the
following : BT 3x3=9

fopmT ; 7T ; 99T ; Y ; FHER ; TS|

2. (a) Join or disjoin ariy six of the following : 1x6=6

IT + AW ; WE; TE + T ; WY 4+
SSUC I L O P R ¢
YT ; R IR

(b) Explain with example y two* of the
following Sutras : . 4x2=8

T 0y ; iﬁﬁ&r aﬂ{gﬂ irq‘srﬁwmvh
rﬁsmmﬁl :

SECTION-—B
¥ (‘Natvavidi and §devavidhi) -
("Marks':°15°)
0 e ! ) o
¢.3, {(a) Explam w;th 111ustrat10n any two of the
followmg Sﬁtras 4x2=8

e mﬁrwwﬁ Wq ﬂaﬁ

P23/406.

(Gontinueq ) -

(3)

(b) Explain the cause for change of ‘® to ‘¥
(any two) : 31,x2=7

RY; TOL; SR ; MEEM:; PR ;
gt "

SECTION—C

( Declension of Noun, Pronoun and Roots )
(Marks:15) ~
4. (a) Decline the following in all numbers (3)
(any five) : 1%ax5=7%
(i) TF in WA
(i) =N in g
(iii) mmm i | ’ o
(iv) Pgin 1 A
(v) T in M
(vi) T in o
(i) @ @) g
(viii) 747 in fi?ﬁm
(ix) A7 in TS

P23/406 ( Turn Over )



(4Y)

(b) Conjugate the followmg TOOts in -all’ numbers - |
(any five) : 1%x5= 1% -

() Vin T
() g in R s gy

(i) R in v 7o g

Aiv) ﬁmﬁmw ‘

(v) Vﬂ{ma{mm h

(vi) Wﬁma{mw

(vii) "Wﬂlﬁmm _
(viti) VR (STTY) in o o e
(i) VW in O o gT

iy

SECTION—D
. ( Karakaprakarana and Samasaprakarana )
( Marks : 25 )

S. (a) Explain the follomng Sutras (any two) :
() Wi g
(i) FFA R =t
(iii) ITRER: ST |
(iv) ey 3gft

4x2=8

P23/406

(5)

(b) Account for case-ending of the following
underlined words (any six) : 1x6=6

(i) o e foaia
(ii) =& for wg wig T
(iii) B T: A:|
(iv) Prgisf weaed o Sy
(v) T ST 9 |
(vi) i QTN
(vii) & GRS
(viii) Mg F= AT |
(c) Name and expound the compounds of any
two of the following : 1%2%2=3
WSW:;W:;E@;W:;
TES: |
(d) Explain with illustration the following Sttras
(any-two) : 4x2=8
9 FE ; TOET: WAL 5 WA
HOTE: ; SeE fi; 5

* % K
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